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(%1)6ﬁ.maﬁmaﬁwmmﬁ?aﬁﬁwww%wﬁﬁmﬁiaﬂmwm 12 TfY. B <19 oA € | ¥ B HaAs

A] 6Tt
[B] | 94t
C]3 e
D17 9+t
Answer : [C]

Explanation: Tc] BT AT = 4/3 #22/7 173 =4/3 *22/7 *3/3 = 36 cm”2 Y& BT AT = 1/3 #22/7 (6)*2 *h =12 #22/7 *h h=36/12 =3 cm
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) 7 A YOI A1 T A YR TST AT BT 4T 8 | NS BT 3aa=T g1 2
[A] 179.67

[B] 278.67

[C] 458

[D] 256.78

Answer : [A]

Explanation: TIc] &1 0T = 7/2 T T BT S = 4/3 *22/7 #(7/2 )3 = 4/3 ¥22/7 *343/8 =179.67 YHI"3
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() TS 24 A, F=r€ a1 TP T AT WP BT ST 1232 V1.3 R Y ST I T A & 2
A] 550 T2

B] 786 THIN2

C] 189 T2

D] 672 THin2

Answer : [A]

Explanation: & BT 3T = 1232 YHIN3 = 1/3 ¥22/7 #1A2 *h =1232 12 = 1232%3%7 /22%24 = 49 1=7 |= 25 TeH J§ &FBT = 22/7 *r *| = 22/7 ¥7%25
= 550 YHIN2
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(4) U BT 15 Hiew avar 3 12 Hiew 9e1 2| 9fe 39 gfa & &3l U1 59 & A%l BT a1 IS IR} SaR) & &A%l & ara gl al
I g BT Mga fpa= u= Hiex gl 2

[A] 1783
[B] 4509
[C] 6729
[D] 1200
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Answer : [D]

Explanation: 2%(15%12) =2(15+12 *39T8 &dTs = 15%12/27 =20/3 HIe BTd T AT = 15*12 *20/3 =1200 T Hex
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%éﬁmwﬁ%wmﬁﬁwm@%amavrhﬁmw%,ﬁiﬁmm‘fmﬁms:ms%|mﬁ?ﬁ%Tﬁﬁaﬂ

A]3 9+t
[B] 7 9
SEE:L]
D] 12 9+t

Answer : [A]
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(6) TR AT b2 fpeft T ) HH: 12 9UT 18 AT A T I TP & | Ho W B D) 3RH P & IUTIHP d1¢ 9 T - TN A TS -
T 3 Bl & § A o1d b g A qRghm 2

A]23 e
B] 45 fa
[c143/3 f&a
D] 67 /7 f&A

Answer : [C]

Explanation: 51§ &I Afdd SRI-GRY & &1 H @l GIF1 BT UFHE =12*18 =216 G BT ART = 12418 =30 30)216( 7 210 -wmemeem 6 UNTHd T GREAT
R/ g B 43/ 3 fA
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(7) A 9 B {5t &1l &1 wu=r: 20 RA AT 30 ﬁﬁgﬂmmﬁmﬁmsﬁsﬁqu&%mmmswﬁwm
ST g | <t Iarsh 39 AV T F1 BT 3Far A BN ?

A] 23/6 fe=
[B] 45/6 T
c]503 f&a
D] 28/9 fe=

Answer : [C]

Explanation: B &7 5 f&9 &1 &1 = 5/30 =1/6 YT BT = 1-1/6 =5/6 YT AT BT A B = 5/6%20 = 50/3 fe
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@®) A TP Fri Y 2 RA FquT B, 3 e & T 91 3| € 3t Heraar & ST freas 99 1 fea § wras fRran | ¢ srven sw sy &t
RT A | e wag A 2

Ale6fem

[B] 5 RE

[c1sfea
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[D] 9 fea

Answer : [A]

Explanation: C &1 1 f&- &1 & =1-1/2-1/3 =(6-3-2)/6 =1/6 HTT C B 3{dhcl HIH FHE B & a7 T07 = 6 fad
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(9) DB AP fredt S oY 18 T3 TUT =0 e 15 37 W T B Topar & | N7 3P d 39 F R 10 f37 w1 foran a1 I9& 918
o Bis four | A wrf ) Ay fan siv faA e 2

[A] 10 f&=T
(B] 3 fat
[C] 6 fat
(D] 11 f&=t
Answer : [C]

Explanation: TR §RT 10 f&7 T {501 T 10 &7 HIRT =10*1/15 =2/3 A BTH =1-2/3 =1/3 T GRT o701 7771 7T = 1/3*18 =6 &
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(10) TF TEHI TH 3R TUT TP ASHT fohelt T BT HHA 20 7, 30 &7 7T 60 17 H g 63 Favdl § | 2 Smefor a7 8 SiRal Bt 39
BRI B T B A TRIAT B3 & oY fora= a8 10 W IQ@ I1¢ a1f &1 2 A H R 8t 9 2

[A]3
[B] 5
[C]8
[D]4

Answer : [C]

Explanation: 2 3TGH! + 8 3Rl &7 1 f&7 &1 HTH =2/20+8/30 TS x TSP I ! TSI P oY THITY Y @l 2/20 +8/30 +x/60 =1/2 x/60 =1/2-2/20
-3/80 =30-6-16/60 =8/60 x=8
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(11) 120 Hiex T T YMSY 90 fit ufar v &Y arer A aa Y 8 | 99 230 Wex 79 Wewr &1 UR #3498 fHa-n gwg it 2

[A] 14

Answer : [A]
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(12) 500 Wiex vt 2 ORI T 20 km/h & TS TH F UR B § fba-m 9wy At »
[A] 90 sec
[B] 45 sec
[C] 89 sec

[D] 12 sec
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Answer : [A]

Explanation: @=500 HIER =1 km/2 FHY =1/2/20 =1/40 GCT =3600/40 =90 sec
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(13) T A Tfd & T I8t Yamet 32 feh 3 gt 3t 12 fore & @ et @ | Y it it ufar wer feftanfa = gft 2
[A] 120 km
[B] 160 km
[C] 189 km
[D] 190 km

Answer : [B]

Explanation: 12 fie B & qa ot 8 32 forht, 1 e & g8 ag ft = 32712 it 60 e & g8 @ wxft =32/12 *60 =160 it
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(14) 132 forei}. /v &Y = =7 TEY 110 W T YASY 165 Hew T WewrH &) UR $3A A fohaar gwg it 2
[A] 7 sec
[B] 8 sec
[C] 1 sec
[D] 10 sec

Answer : [D]
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(15) 100 Wi Tt U Yemret 30 fHt. / e &Y 1fa A 7a 381 8 Y9d A5+ & GHiY WS U AT B UR H1 | 59 a1 I9g a@hm 2
[A] 11

[B] 45

[C] 12

[D] 67

Answer : [C]

Explanation: S 1 UR $H H A T8 = 100/30 *3600/1000 =12 .
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(16) W4 100 &1 QUITehY T 3T gHT -
[A] 123

[B] 178

[C]50.5

[D] 28.90

Answer : [C]

Explanation: 31H1¥ 3f0d = (n+1)/2 =101/2 =50.5
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(17) A,B,C 3R D HHRT: TR TR T WBTY § 3R ITHT 3N 65 7 <l A 3R D HTUFGA FTR 2
[A] 1899
[B] 2267
[C] 7865
[D] 4216

Answer : [D]
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(8) T wrafay § ¢ sftre1ival @1 e ao 55 . @ 3R 4 T &1 3iTd aui= 50 fHuT @ o garsi It w1 Nua asH 7T g 2
[A] 53

[B] 28

[C] 19

[D] 27

Answer : [A]

Explanation: 6 IR BT Gd a0 = 55 fHUT. T ToH = 55%6 =330 T, 4 FAD! BT 3T IO = 50 FHIT. F& TGO = 50*4 =200 10
HfaTal BT HA ToH = 330+200= 530 T = 530/10 =53 fHT.
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(19) Ui T=T3M BT 3iTd 7 § | I 73 J=Id IR $37 W 316 T=13il &7 39 8.5 81 &1 g | Fi9 78 wemaif &1 i g |
[A] 12

(B] 23

[C] 11

(D] 18

Answer : [C]

Explanation: A 715 TRSAT37 BT TNT =8%8.5-5%7 =68-35=33 3H1¥ 3G =33/3 =11
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(20) ATYET 3T TR | FTSR 18 km/hr B ITE A AT @ TUT 12 km/hr BT I160 F Tiear & o) T I & TS id ara |1 2
[A]12.7

[B] 14.4

[C] 19.89

[D] 45.78

Answer : [B]

Explanation: 3{d T = 2xy/ x+y = 2*18*12/(18+12) =2*18*12/30 =14.4 km/h
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